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01 2LHAbI 99,000 99,000 0
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280,000& = 1002/ 28,000
OLESEHLEY &4 350,000& = 1002l 35,000
ONIHZATHHZAE B AIE A
200,000& = 1521 % 123] 36,000
04 =2 A2t bl 190,000 90,000 100,000
OE XXX Ot o2l A=
1,500,000& * 80¢l 120,000
OXIHZHEM XA 2,500,000& + 100! 25,000
SECELEEELT T PS
2,500,000& * 10¢! 25,000
OAZABER SRR Helels
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2l ZEEN XA 65,000 55,000 10,000
301 et a3d 50,000 40,000 10,000
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10 HAAHIE A= 10,000 10,000 0
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Olgers=&Hl] 4,320
OXNYotAt 2te| & OB ZRHI &
H 720,000 « 1CH * 62l 4,320
Ol=tl] 2,800
onMzdg=gd « At 2te| E20HAH
7,000& » 521 » 80 2,800
202 044l 21,600 21,600 0
01 =LHO B 21,600 21,600 0
OXIof s oA S
200,000& * 92! * 123] 21,600
401 A& HIZ 20 1,100,000 720,000 380,000
01 Al & Hl 1,100,000 720,000 380,000
OL7E =0IME HOAY
20,000,000& * 4004 2 800,000
o212 X9 =23
20,000,000& * 150424 300,000
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FOIEO Ol &F 440,000 0 440,000
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01 A& HI 440,000 0 440,000
020124 F2EW HetAtS
40,000,000 = 1™ 440,000
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(:{M=]Ra] 4,363,314 7,921,215 A 3,557,901
ol 81yl 4,363,314 7,921,215 A 3,557,901
801 oildlbl 4,363,314 7,921,215 A 3,557,901
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ooyl gl 4,363,314,000& * 14 4,363,314
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Jlalge Ji23hl 32,407 33,007 A600
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_ _ HE T =
2AH -3 - SH2A(SH) - MEAMY - BHES 0] Ao @E% Hl =2
ORAN2HE SHAH A 11,500,0002 » 14l 11,500
Ol=2&4l] 2,856
ORAN2Y ZSHAHA  7,0008 » 62 * 8L 2,856
02 22| 1,711 1,711 0
O[2222 < HAI 360
ONsIe2 30,0002 * 12 360
ol¢ 2] 1,351
OBANEI LAl 2|
823.582 * 404 * 41 1,351
202 04 Hl 8,840 8,840 0
01 2U0d bl 8,840 8,840 0
ORN2IE SHAHA 20,0008 = 501 % 88.4Y 8,840
203 & R=ZH| 7,500 7,500 0
01 DI 2 2H AR F | 3,300 3,300 0
Ol A2 AL =&Y 3,300,000 * 14l 3,300
04 NP2 FZH] 4,200 4,200 0
OBAN2IALE=XIH| 350,000 * 12& 4,200
Ol AFEHE D] =2 A 24,672 24,672 0
201 Lpt2AH 17,832 17,832 0
01 AtR2telH 17,832 17,832 0
Olgetz=2d|] 15,564
OBAN2YE ZHH A 8,100,000 * 14l 8,100
Od0lMZ2tZ2IED EY
780,0002 * 1CH » 53 3,900
OdOIMERIEHD EY
356,400 = 1CH * 103 3,564
Ol=&Hl] 2,268
ORN2Y ZSHAHA  7,0008 » 40 * 81 2,268
202 O4H| 6,840 6,840 0
01 2L 04 bl 6,840 6,840 0
ORM2Y WA 20,0008 * 301 x 114 6,840
ZALE S D=2 A 16,280 16,280 0
201 L2 A 8,280 8,280 0
01 At22t2H 8,280 8,280 0
Olget2H|] 4,500
OBANSY SN A 4,500,000 * 1Al 4,500
Ol2Hl] 3,780
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202 O4H| 8,000 8,000 0
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RO Y J|=AH 12,055 12,055 0
201 LA 7,615 7,615 0
01 At22telH 7,615 7,615 0
Olget=2d|] 6,705
OB2ANSH SUAH A 2,835,000 * 14l 2,835
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774,0002 * 104 = 53 3,870
Ol2Hl] 910
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202 O4H| 4,440 4,440 0
01 2U0ddl 4,440 4,440 0
SN2Y ZHAA 20,0002 * 201 x 111 4,440
HRES (D2 2AHA) 300,000 300,000 0
ISRShNES 300,000 300,000 0
XISzl Arst 300,000 300,000 0
311 X+ 20| XFAtE 300,000 300,000 0
04 EAHI X 20| Ktats 300,000 300,000 0
OXI et ats 0l Xt 150,000,000 * 23] 300,000




